% PAVONI %)

BREW GROUP BAR-BART-CAFE-HO-PUB

BAR-BART-CAFE-HOTEL PUB

49

PA1201

Positions without LF code no.: upon request




(5 PAVONI o
~i..;--'--.'-) < J
Position LF code no. Description

1 1439003 CAP g 18 mm FOR BREW GROUP
3 1186414 O-RING 0119 EPDM
4 1186981 FLAT TEFLON GASKET @ 26x22x2 mm
5 1160501 WATER FILTER @ 14x10x12 mm
6 1500530 NOZZLE M5x1 HOLE @ 0.75 mm
7 1186982 FLAT TEFLON GASKET g 17x13x2 mm
8 1439010 LEVEL CAP @ 1/4"M
9 3060069 S/STEEL HEXAGONAL MEDIUM NUT M8 UNI 5588
10 3528075 S/STEEL OPEN WASHER @ 8 mm UNI 1751
13 1186980 COFFEE GROUP GASKET 73x61x1 mm
14 1455034 S/S SCREW T.C.C.E.I M4x10 UNI 5931
15 1186611 O-RING 02025 RED SILICONE
15 1186612 O-RING 02025 VITON
16 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
16 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
16 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
16 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
16 1120339 3-WAY MECHANICAL COMPONENT PARKER
16 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
18 1186632 FILTER HOLDER GASKET @ 73x57x8 mm
19 1326100 SHOWER HOLDER DIFFUSER
20 1501569 BREW GROUP SPRAY NOZZLE ¢ 30 mm
21 1081026 SHOWER @ 56.5 mm
21 1081036 SHOWER @ 57.5 mm
22 1528023 S/STEEL CROSS SCREW M5x16 mm UNI 7688
23 1190001 PAPER SEAL g 73x59x0.8 mm
24 1190002 RUBBER SEAL @ 73x59x1 mm EPDM
28 1449685 SILICONE HOSE @ 6x10 SHORE 60 - 5 m
30 1528031 SHOWER SCREW 5x12 mm UNI 6109
31 1160339 BLIND FILTER
32 1160076 2 CUPS FILTER 16 gr
33 1160075 1 CUP FILTER 7 gr
34 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
35 1165041 FILTER HOLDER PAVONI
36 1241700 FILTER HOLDER HANDLE M12
39 1022504 CLOSED SINGLE SPOUT g 3/8"
40 1022501 SINGLE SPOUT g 3/8"
41 1022502 DOUBLE SPOUT g 3/8"
42 1385002 NYLON COFFEE TAMPER @ 50/57 mm
43 1385053 ANODISED ALUMINUM TAMPER @ 58 mm
44 1385600 DYNAMOMETRIC MANUAL COFFEE TAMPER @ 57mm
44 1385602 MANUAL DYNAMOMETRICAL TAMPER @ 57 mm
45 1384003 BLACK SHOWER CLEANING BRUSH
46 1384001 BRUSH FOR COFFEE SHOWER
47 1384002 BRUSH FOR MAINTENANCE
48 1069002 STAINLESS STEEL MEASURING SPOON 20 ml
49 1069001 PLASTIC MEASURING SPOON 20 ml
50 1501008 GROUP SPRINKLER @ 30 mm
51 1081064 SHOWER SCREEN @ 56 mm
52 1528016 ST/STEEL SCREW M6x16 mm




